TH7F6AERSD REKR

BRE BAEFBEERIEREHLE

B & A % & B H BE KR
V=R (DZA1K)160ml fAE Mt XEBE 0157 = %
Y—R(UFX17A)200ml g MM KIZE 0157 = %
FITDTKE Tk rEHMmEXEBE 0157 b= %
DEZAITHL(AYE) fREHMmEXERE 0157 b=
EAITHF—X (HE) fAE Mt XEBE 0157 b= 1%
DY DMAB(ER g I KIZE 0157 = %
DY DEEN0)(ER frEHMmEXREBE 0157 = %
SUMNMH(TLILTLT) =) hY g I KIZE 0157 = %
SUYDNF(FLILTU YY) LEDE e MM REZE 0157 = %
TIL—yE)—(KER) /1> fREHMmMEXEZEE 0157 = 1
YAR—ZXARLYI LT (FLILE YT =) g M KIZE 0157 = %
TAR—RXBERL YT (KE) fAEHmEXBE 0157 = &
HMAT Y L frEHMmEXEBE 0157 = %
S04yl fAEHmEXBE 0157 = &
3—4 )Lk 2727 70g frEtHm4EXBE 0157 (e
3—J )b 37T TSR 10g fAEHmEXBE 0157 (=]
—O&XX fREHMmMEXREZEE 0157 b= %
RIAITRL (k) frEtmAEXBE 0157 b= 1%
NADEAE (6g) fREHMmMEXREZEE 0157 = 1%
INE DA (Tg) fAE Mt XBE 0157 = %
BEMFEIXS fREHmMEXREZEE 0157 =
BEH<H fAE Mt XBE 0157 = %




TH7F6AERSD REKR

BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
BHE<H ERYIY) CRiE) fAE Mt XEBE 0157 b= 1%
KHZ (ER fREHMmMEXREZE 0157 =
RAHZT ) (BR BEHMERBEE 0157 (=3
EHE(ER fREHMmMEXREZE 0157 = 1
23 EHMEXEBE 0157 b= %
ZELERAE) fREHMmMEXEZEE 0157 = 1
BHAZ (B frEHMmEXBE 0157 = %
B#&E (5 (BiR fREHMmMEXEZEE 0157 = 1
EX frEHMmEXEBE 0157 = %
BX fREHMmMEXBZEE 0157 =
AEDHL (DL -1 UNE-Bi) fAE Mt XBE 0157 b= 1%
MEDHL (DL -85 UNEHRDH) fAEHmEXBE 0157 = &
HREHLIT1(50g) g M KIZE 0157 = %
AENDHL(FRE) (30g) fAEHmEXBE 0157 = &
AEWNDHL (BRE) (409) frEHMmEXEBE 0157 = %
REVAT—(HoUE) fAEHmEXBE 0157 = &
AMRVAF—(AYh) g M KIZE 0157 = %
AEITHIT (Fvh) fAE Mt XBE 0157 = %
MEIEN g M KIZE 0157 = %
AEMNMIBPEIL fAE Mt XBE 0157 = %
AAEIOYT (AAY) g MM KIZE 0157 = %
BEIDFENE fAE Mt XBE 0157 = %




TH7F6AERSD REKR

BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
AREE (H1R) (40g) EHMmEXEBE 0157 b= %
AESE (H1R) (60g) fREHMmMEXREZE 0157 =
AESHL (AY) BEHMERBEE 0157 (=3
R 1—<A g M KIZE 0157 = %
RRTZFETHOF (30g) EHMEXEBE 0157 b= %
ARFXUAY (60g) g I KIZE 0157 = %
ARFXUF7 VR (18g) frEHMmEXREBE 0157 = %
MREFEUF7 U (20g) fREHmMEXBZEE 0157 b=
ABRININ—Y frEHMmEXEBE 0157 = %
BEIZUITILE(Fvh) g I KIZE 0157 = %
WEA—OY (hyk) XA EE frEHMmEXEBE 0157 = %
BEA—OY (hyb) XEE fAEHmEXBE 0157 = &
BMEA—IY (HFK) frEHMmEXEBE 0157 = %
MRIFINAE(HYE) fAEHmEXBE 0157 = &
AERILRINL (BUR) e M KIZE 0157 = %
AEI—MR—IL fAEHmEXBE 0157 = &
BEIVFHY 60g fREHMmMEXREZEE 0157 4
MELCERE fAE Mt XBE 0157 = %
AR fREHMmMEXREZEE 0157 = 1%
AEBMBIT L¥25— BEHMERBEE 0157 b2 %
AREMDIBT ) fREHmMEXREZEE 0157 b= %
AEBHISBIT(X) fAE Mt XBE 0157 = %




TH7F6AERSD REKR

BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
AEBA (R DOE-5ghvh) BEHMERBEE 0157 (=3
AEIEEA(EDE-10ghvh) g MM KIZE 0157 = %
MEBRA(EDE-13-10ghvh) rEHMmEXEBE 0157 b= %
MRIBA (RIEL-5ghvbh) g M KIZE 0157 = %
AERBA(REL-H5-1A) BEHMERBEE 0157 (=3
AEEBIT(E2) fREHMmMEXBZEE 0157 b=
MREET(R2) BEBT) frEHMmEXREBE 0157 = %
AEREREBT (D) (EEXS) fREHmMEXBZEE 0157 b=
RS (H1B) (40g) frEHMmEXEBE 0157 = %
MRS (H18) (60g) fREHMmMEXEZEE 0157 b=
R BERK frEHMmEXEBE 0157 = %
MEEF fAEHmEXBE 0157 = &
AR ELE frEHMmEXEBE 0157 = %
MEEE fAEHmEXBE 0157 = &
RIS (Fe) frEHMmEXEBE 0157 = %
MEER(EBEXRR) fAEHmEXBE 0157 = &
HEBEAE(ELAYIY10g) g M KIZE 0157 = %
AREBEA($1)3mm3 X 3cm fAE Mt XBE 0157 = %
AEBRA(O—RX)3mm 3% 3 g M KIZE 0157 = %
HEBFALE BEHMERBEE 0157 b2 %
AAEBEALE (M1 x3cm) g MM KIZE 0157 = %
ARBERALY (BRR) fAE Mt XBE 0157 = %




